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"The figures in the margin indicate full marks
for the questions.

1. Answer the folldwing questions : ~ 1x8=8

(a) Cost Accounting provides information to
management for '

(.1). Proper Planning

| (ii) Oﬁemﬁon
(iii) Control ‘and Decision Making
(iv) All of the above
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" analysis are used for dlfferentnal coS

(i) Decision Making

~‘('ii) Producthik' |

_(iii) Management Control Sys'tem |
(1v) Pricing Declsmn |

(c) An efficient and eﬁ'ectl
~ individual task is kn own s ve Perfqnnancc of

@) Cybemenes

(i) Goal Congruence

(lll) Management C()ntrol System
(IV) ‘Task Contro]

0 are in-charge of -
O Responsbiy Ay

' (ii) Transfer Pricing

various cost Centres

(iii) Mal__lagemem Repol'tlng
(iv) Tnternal Augi

3W6ASEM-H)MCO303 (4 .0 o

(e) Price fixation problems are included in
(@) Cost Reports |
- (ii) Finance Re'ports'
(iif) Sales Reports

(iv) Special Reports

(f) Cash Budget is a
(i) Master Bud'get
(n) Short-term Budget
(m) Long-term Budget
| ~ (iv) Budget Manual
(2) The main objective of management audit is to

find out whether the work is undertaken
efficiently at |

(i) Management level
(i) Workers® level

(iif) All levels

() Only at top level
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(h) The relationship between value, function and w

costs can be expressed as

(i) Value = Function + Cogt
(i) Value = Function x Cost
(iii) Value = Function / Cogt

(iv) Function = Valye / o

2. Answer the following questiong .

marginal cost.

Or

costs and hTeleVam el

(b) (i) What are conty, .
Lo olable ang uncontl’olabl:

e e R B

(a) (l) What are differential oo A ;
2+2=4

(if) Mention the differen ey between Relevant
ele

(c) (i) What is zero-based budgeting ? 4

(ii) Write four differences between I.’c?rfor-
mance Budgeting and . Traditional
Budgeting.

(d) (i) Mention four objectives of Human
Resource Accounting. ‘ 4

Or

(ii) -Write four advantages of value aﬂ&lYSli
techniques.

Answer the following questions :

(a) (i) Discuss how differential cost analysis i.i
helpful in decision making. 1

Or

(ll) A manllfacturing company ﬁnds that while
the cost of making a component No-. 0.51
in its own workshop is Rs. 8.00 each, the

_ same is available in market 8¢ Rs. 6.50
with an assurance of continous supply.
Give your suggestion whether to mak.e or
buy this component. Give also your we?vs
in case the supplier reduces the price
from Rs. 6.50 to Rs. 5.50. The cost data
is as follows : 14
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Rs.

Material _ 3.00
Direct labour 2 06
Other variable eXpenses 1.00
Depreciation and other Fixed
Expenses 2.00
8.00
() (@) “Responsibility Accoypgip, :
device for contrg] » Discgul: P
14 |
Or |
(ii) Discuss the natyre f |

(c) (i) Whatis Managememlnf
Ormation System ?
g ﬁl"n?Zﬁ tt he steps 'invOled in
development, y Ste';‘:
: 4+10=1
o _

i :;1 elﬂﬁgg(e)niisitsb!;ggeted for production
below : factory are given
14
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: Per unit (Rs.)
Material e
Labour : e
Variable Factory Overheads 20
Fixed Factory Overheads
(Rs. 1,00,000) 2
Variable Expenses (Direct) g

Selling Expenses (10% Fixed) 13
Distribution Expenses (20% Fixed) 7,
Administrative Expenses
(Fixed Rs. 50,000)

Total cost of sales per unit

—
N
W

|

(d) (i) Differentiate between Cost Reduction and
Cost Control, What are the n'la_]or areas
in which cost reduction is usually
possible ? 7+7=14

B
(if) Define management audit. What YPS of

information are required for 2 ﬂmag‘;‘f?::
auditor to draw a conclusion: il
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(Theory Paper) - (ii) Which is not correct in case of Human
Paper Code : 305 B) : Resource Information System ?
(Human Resource Ma“agement) | (@) It collects information
Full Marks - g9 (b) It analyses information -

i Bours (¢) It reports information only to the €0
The figures in the margin

' dicate ‘ : departmental heads
for the qu estions, full marks

1. Choose the correct answers .

ncern

~ (d) It deals with information about people and
: 1x8=8 | jobs.
i) The basis for hum A
(i) an fesource planning is (iv) Which of the following is not & feature of

(a) The economic trends o :

(b) Demand for employee,

(@) a system
(c) Strategic plans of the fiem

b 1
(d) Supply of employ%s (b) a planned process

- (¢) first step of HR planning
(ii) Which of the followy, :

analysis ? 8 1S nog offered in a job (d) an interdisciplinary concept
-(a) Worker attribygeg

- - * t
(v) Training evaluation criteria includ®s friat¥
(b) Peformance DPrajsy)

(c) Working conditj,, s
: ' van
(d) Job Speciﬁ"ation _ (c) Behaviour (d) Rele .

(8) Reactions (b Leaming
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IR III==.

: (Vl) Who dld mtroduce the Achiex - (iii) Mention briefly any four s1mu1atlon methods

_ Motivation? . evement theory of of trammg
' tlon
low (iv) Write any four objectives of compensa
(c) McGregor - @)  McCleiland 3. Explain the fouowing:
(vu)Whlch of the fol!owmg options ic. | () Briefly desciibe the concept of job analysis
of remunerahon ? +T5 18 a component |

. . \ is rOCess.
and explain the job ana Y§ P 747=14
(a) ang beneﬁts (b) Co tment

Mmitmen

Or -«
(c) Extemal Equlty (d) MOtlvatl

‘Discuss the need for and techniques of gc‘)’I;
"enrichment. Can these techniques impr

(vm) What lS the altemate Rame o ; ) employees’ motivation ? T+7=14
: mcentlve
@ Gratmty S o (ii) What is Human Resoufce Planning ? Exfl‘ﬂ[iaﬁ:
: ®) Pa1 d hoh days o , | with suitable 1llustratlon the proces2s+<;2_14
| | | planning,
(0) Payments by rmult | Or
- (d) None of the aboye Discuss the problems faced bY the HR
| N | managers in formulating HR planning. How
2. Answer the followmg s ' ' ' can these problems be overcomed ?7+7—14
. o 4x4= : | -
(i) Distinguish between RN M :

n job -
speciﬁcation e des‘irlptlon and job (m) Define Training. Explam the needs for

training in an industrial organisation. Explain
(ii) How is demand for HR : |
fOI'CCas
ted 2

various methods of training. 2+4+8=14
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'_ ,Of'. ,' I ~ (Theory Paper)
- Paper Code : MCO-305(C)
imilarities between (Mlcroﬁnance and Rural Develol’ment)

Lawlers Expectancy cory.. 747=14 Full Marks—80
Time Three hours
iv) Define wage .
@ - -am-l salary admn.nstration. What | -
are the objectives of Wwage al The figures in the margm indicate ﬁJll mar
administration ? Whgt and salary| | for the questions,
wage and sal admlmare € principles of A |
ary Stration 9 1. Choose the correct answer : - 188f—-8
: 2+6+6—l4 :
Or (A) The feature of microfinance is
Ekphnlﬂm=vmmﬁm lem @ loans are of small amoimt
| elemen DR o |
R n‘i;;ia::‘%:at"::, ©) o ar ofered withcalletr
| s ‘on levels of employees. | (c) loans' are ngen to women SHGS only
L : ) S - T= (d) loans. are for educatlonal institutions of |
- o ‘ | nnﬂ.mna .
: ®) Mlcrofmance semces include
- ' S _ = (a) micro savmgs and micro msurance
N (b) ‘micro entgrpnse and micro business

activities
(c) both (1) and (u)
(d) None of the above A

 3B6I2SEM-3)MCOIS(ABC) (15 8/63RSEM3)MCOI05(ABC)  (13) [Tumover

130 |




(99

mroumny] (o‘a‘v)spsoaw(s-was)ams

14!

- -eipuj W soupULOIOT JO 301 oWy sreproniy

10

*90UBULJOIOIW JO Sjopoud
14! %
saSeyui] O

yiowd0[aA3P [BI 3O SIIAU3 diseq (p)

DHS 30 saAnpalqy (9)
50&@6131111. uelpuy ur ﬁognAotmI @

NPaIdOIOTI
pue aouvmjo-‘o‘w U9dMIdq  saouazopig (B)

91=hx¥ +UO saj0u poys MM

*3A0QE Y} JO suoN (p)’

(1) pue () woq (9)

: 2imjonyseryur
[ij 30 worsuedxe JOo s$s3001g (q)

9[d03d [enx jo

sneIs TIOU003-0100S SUISIRI JO §53001 ()

!

HS pue usduweln) Y} Sssnosiq (e) ‘&

_.
[ o) Pm—

1

14 )
Q) S0€ OO (E-NHS)Z/£9/8¢

oz

.

2661 ()
286[

zL61 (e)

ur g ‘
1198 sem quyavN (O)

oz

zooz (@

861

@ z661 (®)

U eIpuy ¢
" U poorpanu siam soHS (D)

gy
(IHVHVN

®)
@ 1g4s -(e)

10§ P3joword 4 49 100d oy Suroueuy
R - WS s1om sopg “erpur up (@)

g ()

st juswidoaAsp ey W= ...,_,h




(©). Microfinance is the provi

services to people of |
' OW-income
group.

(@) True  (b) False
The NBFC- |

(D) The C-MFIs are Iegulateq i India by
(a) SEBI (b) Rp

fi
ity Promoted for,

sion of ﬁnanciall (H) Rural development is

(a) Process of raising socio-economic status

of rural people

| () Process of expansion of rural
infrastructure :

() both (i) and (ii)

/(d) None of the above.

financing the M
S 2. Write short notes on: 4x4=16
(). SEBI ) - | pr P
NABARD ~ (a) Differences between microfinance - an
(c) RRB @ Ry | microcredit '
(F) SHGs were introduceq g (b) Innovation in Indian microfinance ‘
ia i _
(a) 1992 & 13 (c) Objectives of SHG
198>
(c) 2002 fd (d) Basic elements of rural development
i ) 201 ‘ : M
2 | = [
3. (a) Discuss the Grameen and SHG linkages
G) NABARD |
QNP was set up in | models of microfinance. 14
(@ 1972 (b) b o
(c) 1992 @ s Elucidate the role of microﬁnénce in India.
02 14
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4. (a) What is MF1 ? Write the nature and functions
. of MFL. - - 2+10=12
Or

" (b) Write a detalled note on rate of interest and
- repayment management of MFI. 14

5.' (a) Define SHGs ? Discuss the impOrtancé of
- SHGs in the context of rura] development in
India. 4+10=14 -
) SHGs are not free from Wealdlesses’.-' In the -
light of the above statement, 'write the

weaknesses of SHGs and suggest the measures - C

to overcome weaknesses, 14

6. (a) What do you mean by rural development ? -

Why is rural development necessary in India 2
Explain. E . 4+10=14
. & |

(b) What_ initiatives h.ave; been taken by the -
" Government of India for rural development
Discuss. - - . 14
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